2 Pulses of Best Profile
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Search Information

Best Fit Parameters
P(Noise) < 5.79e—80

1.04(71)x1077

Binary Parameters

p2030_53489_32253_0055_G38.27+02.17.N_5.wapp

1400 1420 1440 1460
Frequency (MHz)

1380

P—dot — 1.8276e—11 (s/s)

Candidate: 7.92Hz_Cand RA 5000 = 18:53:01.0462
Telescope: Arecibo
Epochyg,, = 53489.37329861111  Reduced x* = 6.459
Epoch,,,, = 53489.37612020226 D|sperS|on Measure (DM) =
sample = 6.4e—05 Puope (ms) = 126.3842(12) _
Data Folded = 2115584 topo (s/s)
Data Avg = 2.707e+04 P"opo (s/s?) = 0.0(3.4)x107°
Data StdDev = 305.2
Profile Bins = 100 (s) = N/A
orb
Profile Avg = 5.723e+08 a,sin(i)/c (s) = N/A
Profile StdDev = 4.44e+04 T . = N/A
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Reduced X2 DM

DEC = 05:47:52.0199

J2000

(~18.90)
194. 085
bqry (ms) = 126.3943(12)

P bary (s/s?) = 0.0(3.4)x107°

bqry (s/s) = 1.04(71)x10” -7

e = N/A
w (rad) = N/A
[ T T T Jeo N><
©
- - < ()
O
=)
- 18 O
(0]
" 1 " 1 1 " o 0:
2x107® ) —2x107¢
P—dot — 1.8276e—11 (s/s)
_'I""I""I""I'"'I'_‘DNX
©
L < ()
O
=)
- Q4N O
(0]
PYRE [ YN T VY N [N T N TR T [T T TR TR T T SR S SO S N o m
01 005 0 -005 -0.1
Period — 126.33233119 (ms)
Freq — 7.915630 (Hz)
—5x107> 0 5x107° ¥ ~
3 1% <
% 1 &
9 2 |
(6}
o | o Q
o 1 -
o | 2 +
% 13
o
e e X -lc
0.1 0.05 o -005 -01 9
Period — 126.33233119 (ms)
13—Dec—2010 15:57



